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Chip 0 Vt50 at 2.00fC Nent = 128    
 1.732 ±Constant =    16 

 0.141 ±Mean     =   144 

 0.09972 ±Sigma    = 1.596 

Chip 0 Vt50 at 2.00fC Nent = 128    
 1.732 ±Constant =    16 

 0.141 ±Mean     =   144 

 0.09972 ±Sigma    = 1.596 
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Chip 1 Vt50 at 2.00fC Nent = 128    
 1.789 ±Constant = 16.53 

 0.1365 ±Mean     = 143.6 

 0.09655 ±Sigma    = 1.545 
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 1.789 ±Constant = 16.53 

 0.1365 ±Mean     = 143.6 

 0.09655 ±Sigma    = 1.545 
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Chip 2 Vt50 at 2.00fC Nent = 128    
  1.65 ±Constant = 15.24 

 0.1481 ±Mean     = 142.9 

 0.1047 ±Sigma    = 1.676 
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  1.65 ±Constant = 15.24 

 0.1481 ±Mean     = 142.9 

 0.1047 ±Sigma    = 1.676 
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Chip 3 Vt50 at 2.00fC Nent = 128    
 1.792 ±Constant = 16.55 

 0.1363 ±Mean     = 144.4 
 0.09639 ±Sigma    = 1.542 
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 1.792 ±Constant = 16.55 

 0.1363 ±Mean     = 144.4 
 0.09639 ±Sigma    = 1.542 
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Chip 4 Vt50 at 2.00fC Nent = 128    
 1.684 ±Constant = 15.55 

 0.1451 ±Mean     = 144.1 
 0.1026 ±Sigma    = 1.642 

Chip 4 Vt50 at 2.00fC Nent = 128    
 1.684 ±Constant = 15.55 

 0.1451 ±Mean     = 144.1 
 0.1026 ±Sigma    = 1.642 
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Chip 5 Vt50 at 2.00fC Nent = 128    
 1.608 ±Constant = 14.86 

 0.1519 ±Mean     = 143.5 
 0.1074 ±Sigma    = 1.718 

Chip 5 Vt50 at 2.00fC Nent = 128    
 1.608 ±Constant = 14.86 

 0.1519 ±Mean     = 143.5 
 0.1074 ±Sigma    = 1.718 
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Chip 0 Gain at 2.00fC Nent = 128    

 2.284 ±Constant =  21.1 
 0.107 ±Mean     = 53.44 
 0.07564 ±Sigma    =  1.21 
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 2.284 ±Constant =  21.1 
 0.107 ±Mean     = 53.44 
 0.07564 ±Sigma    =  1.21 
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Chip 1 Gain at 2.00fC Nent = 128    

  2.22 ±Constant = 20.51 
 0.1101 ±Mean     = 52.57 
 0.07782 ±Sigma    = 1.245 
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  2.22 ±Constant = 20.51 
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 0.07782 ±Sigma    = 1.245 
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Chip 2 Gain at 2.00fC Nent = 128    

 2.325 ±Constant = 21.48 
 0.1051 ±Mean     = 53.39 
 0.07429 ±Sigma    = 1.189 

Chip 2 Gain at 2.00fC Nent = 128    

 2.325 ±Constant = 21.48 
 0.1051 ±Mean     = 53.39 
 0.07429 ±Sigma    = 1.189 
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Chip 3 Gain at 2.00fC Nent = 128    
 2.627 ±Constant = 24.27 

 0.09299 ±Mean     = 52.82 

 0.06575 ±Sigma    = 1.052 

Chip 3 Gain at 2.00fC Nent = 128    
 2.627 ±Constant = 24.27 

 0.09299 ±Mean     = 52.82 

 0.06575 ±Sigma    = 1.052 
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Chip 4 Gain at 2.00fC Nent = 128    
 2.516 ±Constant = 23.24 

 0.09711 ±Mean     = 52.71 

 0.06867 ±Sigma    = 1.099 

Chip 4 Gain at 2.00fC Nent = 128    
 2.516 ±Constant = 23.24 

 0.09711 ±Mean     = 52.71 

 0.06867 ±Sigma    = 1.099 
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Chip 5 Gain at 2.00fC Nent = 128    
 2.002 ±Constant =  18.5 

 0.122 ±Mean     = 53.18 

 0.08626 ±Sigma    =  1.38 

Chip 5 Gain at 2.00fC Nent = 128    
 2.002 ±Constant =  18.5 

 0.122 ±Mean     = 53.18 

 0.08626 ±Sigma    =  1.38 

-40 -20 0 20 40 60 80 100

n
(C

h
an

n
el

s)

0

5

10

15

20

25

30

35

40

45
Chip 0 Extrapolated Offset Nent = 128    

 4.946 ±Constant = 45.69 

 0.1581 ±Mean     = 36.45 
 0.1118 ±Sigma    = 1.788 

Chip 0 Extrapolated Offset Nent = 128    
 4.946 ±Constant = 45.69 

 0.1581 ±Mean     = 36.45 
 0.1118 ±Sigma    = 1.788 
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Chip 1 Extrapolated Offset Nent = 128    
 4.688 ±Constant = 43.31 

 0.1668 ±Mean     = 37.59 
 0.1179 ±Sigma    = 1.887 

Chip 1 Extrapolated Offset Nent = 128    
 4.688 ±Constant = 43.31 

 0.1668 ±Mean     = 37.59 
 0.1179 ±Sigma    = 1.887 
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Chip 2 Extrapolated Offset Nent = 128    
 4.742 ±Constant =  43.8 

 0.1649 ±Mean     = 35.64 
 0.1166 ±Sigma    = 1.865 

Chip 2 Extrapolated Offset Nent = 128    
 4.742 ±Constant =  43.8 

 0.1649 ±Mean     = 35.64 
 0.1166 ±Sigma    = 1.865 
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Chip 3 Extrapolated Offset Nent = 128    

 5.491 ±Constant = 50.73 
 0.1424 ±Mean     = 36.94 
 0.1007 ±Sigma    = 1.611 
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 5.491 ±Constant = 50.73 
 0.1424 ±Mean     = 36.94 
 0.1007 ±Sigma    = 1.611 
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Chip 4 Extrapolated Offset Nent = 128    

 5.621 ±Constant = 51.92 
 0.1391 ±Mean     = 36.66 
 0.09834 ±Sigma    = 1.574 

Chip 4 Extrapolated Offset Nent = 128    

 5.621 ±Constant = 51.92 
 0.1391 ±Mean     = 36.66 
 0.09834 ±Sigma    = 1.574 
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Chip 5 Extrapolated Offset Nent = 128    

 4.612 ±Constant = 42.61 
 0.1695 ±Mean     = 35.78 
 0.1198 ±Sigma    = 1.918 

Chip 5 Extrapolated Offset Nent = 128    

 4.612 ±Constant = 42.61 
 0.1695 ±Mean     = 35.78 
 0.1198 ±Sigma    = 1.918 
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Chip 0 Input Noise at 2.00fC Nent = 128    
 5.089 ±Constant = 47.01 

 3.201 ±Mean     =  1570 

 2.263 ±Sigma    = 36.21 

Chip 0 Input Noise at 2.00fC Nent = 128    
 5.089 ±Constant = 47.01 

 3.201 ±Mean     =  1570 

 2.263 ±Sigma    = 36.21 
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Chip 1 Input Noise at 2.00fC Nent = 128    
 6.047 ±Constant = 55.86 

 2.693 ±Mean     =  1641 

 1.904 ±Sigma    = 30.47 

Chip 1 Input Noise at 2.00fC Nent = 128    
 6.047 ±Constant = 55.86 

 2.693 ±Mean     =  1641 

 1.904 ±Sigma    = 30.47 
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Chip 2 Input Noise at 2.00fC Nent = 128    
 4.271 ±Constant = 39.45 

 3.814 ±Mean     =  1537 

 2.697 ±Sigma    = 43.15 

Chip 2 Input Noise at 2.00fC Nent = 128    
 4.271 ±Constant = 39.45 

 3.814 ±Mean     =  1537 

 2.697 ±Sigma    = 43.15 
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Chip 3 Input Noise at 2.00fC Nent = 128    

 4.933 ±Constant = 45.57 
 3.301 ±Mean     =  1543 
 2.334 ±Sigma    = 37.35 

Chip 3 Input Noise at 2.00fC Nent = 128    

 4.933 ±Constant = 45.57 
 3.301 ±Mean     =  1543 
 2.334 ±Sigma    = 37.35 
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Chip 4 Input Noise at 2.00fC Nent = 128    

 5.133 ±Constant = 47.41 
 3.173 ±Mean     =  1537 
 2.244 ±Sigma    =  35.9 
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 5.133 ±Constant = 47.41 
 3.173 ±Mean     =  1537 
 2.244 ±Sigma    =  35.9 
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Chip 5 Input Noise at 2.00fC Nent = 128    

  4.16 ±Constant = 38.43 
 3.915 ±Mean     =  1529 
 2.768 ±Sigma    = 44.29 

Chip 5 Input Noise at 2.00fC Nent = 128    

  4.16 ±Constant = 38.43 
 3.915 ±Mean     =  1529 
 2.768 ±Sigma    = 44.29 
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Input Noise at 2.00fC Nent = 767    Input Noise at 2.00fC Nent = 767    
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Chip 0 Vt50 at 2.00fC Nent = 128    
 1.736 ±Constant = 16.04 

 0.1407 ±Mean     = 143.1 

 0.09951 ±Sigma    = 1.592 

Chip 0 Vt50 at 2.00fC Nent = 128    
 1.736 ±Constant = 16.04 

 0.1407 ±Mean     = 143.1 

 0.09951 ±Sigma    = 1.592 
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Chip 1 Vt50 at 2.00fC Nent = 128    
 1.778 ±Constant = 16.42 

 0.1374 ±Mean     = 143.7 

 0.09718 ±Sigma    = 1.555 

Chip 1 Vt50 at 2.00fC Nent = 128    
 1.778 ±Constant = 16.42 

 0.1374 ±Mean     = 143.7 

 0.09718 ±Sigma    = 1.555 
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Chip 2 Vt50 at 2.00fC Nent = 128    
  1.44 ±Constant =  13.3 

 0.1696 ±Mean     = 145.2 

 0.1199 ±Sigma    = 1.919 

Chip 2 Vt50 at 2.00fC Nent = 128    
  1.44 ±Constant =  13.3 

 0.1696 ±Mean     = 145.2 

 0.1199 ±Sigma    = 1.919 
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Chip 3 Vt50 at 2.00fC Nent = 128    
 1.608 ±Constant = 14.86 

 0.1519 ±Mean     = 144.6 
 0.1074 ±Sigma    = 1.718 

Chip 3 Vt50 at 2.00fC Nent = 128    
 1.608 ±Constant = 14.86 

 0.1519 ±Mean     = 144.6 
 0.1074 ±Sigma    = 1.718 
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Chip 4 Vt50 at 2.00fC Nent = 128    
 0.9507 ±Constant = 8.782 

 0.257 ±Mean     = 146.4 
 0.1817 ±Sigma    = 2.907 

Chip 4 Vt50 at 2.00fC Nent = 128    
 0.9507 ±Constant = 8.782 

 0.257 ±Mean     = 146.4 
 0.1817 ±Sigma    = 2.907 
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Chip 5 Vt50 at 2.00fC Nent = 128    
 1.623 ±Constant = 14.93 

 0.1505 ±Mean     = 144.7 
 0.1064 ±Sigma    = 1.696 

Chip 5 Vt50 at 2.00fC Nent = 128    
 1.623 ±Constant = 14.93 

 0.1505 ±Mean     = 144.7 
 0.1064 ±Sigma    = 1.696 
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Chip 0 Gain at 2.00fC Nent = 128    

 2.778 ±Constant = 25.66 
 0.08794 ±Mean     = 52.83 
 0.06218 ±Sigma    = 0.995 
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 2.778 ±Constant = 25.66 
 0.08794 ±Mean     = 52.83 
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 1.892 ±Constant = 17.47 
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 2.187 ±Constant =  20.2 
 0.1117 ±Mean     =  53.8 

 0.07898 ±Sigma    = 1.264 
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  2.04 ±Constant = 18.77 

 0.1197 ±Mean     = 53.43 
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 4.564 ±Constant = 42.16 

 0.1713 ±Mean     = 35.25 
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 4.603 ±Constant = 42.35 
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 6.342 ±Constant = 58.59 
 2.568 ±Mean     =  1546 

 1.816 ±Sigma    = 29.05 
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 1.816 ±Sigma    = 29.05 
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 5.646 ±Constant = 52.15 

 2.885 ±Mean     =  1543 

  2.04 ±Sigma    = 32.64 
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  2.04 ±Sigma    = 32.64 
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 4.469 ±Constant = 41.28 

 3.645 ±Mean     =  1541 

 2.577 ±Sigma    = 41.23 
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 4.586 ±Constant = 42.36 
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 4.835 ±Constant = 44.67 
 3.368 ±Mean     =  1557 
 2.382 ±Sigma    = 38.11 
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 4.114 ±Constant = 37.85 
 3.959 ±Mean     =  1556 
 2.799 ±Sigma    = 44.62 
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